REXATDa1—)L RERTT1—)L

1 1 ﬁ 1 OE (:t) 8:30 9:00 9:30 10:30 11:00 11:30 12:00 12:30 13:00 13:30 14:00 14:30 15:00 15:30 16:00 16:30 17:00 17:30 18:00 18:30 19:00
wast vz RIS - BT RIS B2 AT
RS T i 8:30~18:20 8:30~18.20 3
e Aam CT-1 (1-6) CT-2 (7-11) CT-3 (12-16) #E
E1R1G [#I1F<] [D.E.- FEAIE LK) Bast DURTY L [DE.- ZERiEBli%2] 3‘5
R—IL 10:00~11:00 11:00~11:50 13_2955114_10 TDRLsD %7 | 17:30~18:20
(4604) HFO Kt Bl g : . 15:20~17:20 =H# BX ?ﬁ
(ERR) GERR) (EER) &
s X$R-1 (17-22) Ef§ T#-1(23-27) Ef§ T$-208-31)| ERT2-3(32-36) ER T5-4(37-42)
%_zriﬁ €220 [CAD] [Deeplearningl]| [DeeplLearning?] [EF{E]) ) {
2fEREE1-2-3 10:00~11:00 11:00~11:50 15:30~16:10 |  16:10~17:00 17:00~18:00 .
(10042) ME RE hi £ Al B— B XE BA IE= S/
GhfBIR) (f2RR) (REXRIR) (f2[ER) (RERR) =
e o Ot TR ETE-1(43-47) | TRSTHRIAHE-1(48-53) BEHRAR-2(54-57) | TRETR B IE-2 (58-63) X#R-2(64-68) e
55375}? [HIEIRE] [IGRT-IMRT] [REAH-REHE] [ZzDith] [BAELIRAHIE]
SETHE=E1-2 10:00~10:50 10:50~11:50 15:30~16:10 16:10~17:10 17:10~18:00 H Y
(100%) ER & HR BE IV ET ok #ET hE = B
EX0) GhiBR) (ERR) (fEm8) (EER) B
WAG=T | #A3=2 1)) 7R
. e . . (P1-4) | O . —
RRA—$15 AAS—E HRI—ET [WRi-cT] | SRR N A 7
3EEBER 9:00~10:30 10:30~18:20 16:00-16:24 | Te-24-16.42 10:30~18:20 L
BE RZ | &8 =A N
el | The®) pia
BEETRS BWRET MEER b
RIAT 9:00~18:20 9:00~18:20
e r A MRI-1(69-74) MRI-2(75-79) MRI-3(80-84) | MRI-4(85-88)
X3 ] [MRA] €319 [EEEEEM] | [EREEE]
FEDOME 10:00~11:00 11:00~11:50 15:30~16:20 | 16:20~17:00
(2004) iz = HE B FHE H—ER = &
(+2FRR) (REKIR) (RERIR) ChiBIR)
e % EF-1(89-94) R E-2(95-100) #EZ-1(101-106)
Bk (PET/CT-SPECT (2 0ftt)] ) (D]
(73*71'2:\) 93§50~}£:5o 10":15;(;1;:50 15:30~£E69:530
150 T fH— g A= PaIT .
(BRR) (RIFR) (BIER) 18 245
EXF3 21:00
J47L
(150%)

1 .IE.I 1 E (E) : : 9:30 10:00 10:30 11:00 11:30 12:00 12:30 13:00 13:30

WE2M BHG- B8R 24T
R4 8:30~
e a CT-4 (107-112) CT-5 (113-118) CT-6 (119-122) | CT-7 (123-126) .
E1815 B - T D<) () &) (82 FAS st
7k_)b 9:30~10:30 10:30~11:30 11:30~12:10 | 12:10~12:50 o
(4604) e RN KB FE WER KA #HE EF 13:40
(fEmR) (ERR) (REARER) GagR) :
e E X#R-3 (127-130)| X#%-4 (131-135) |EMEI-5(136-139)| E{&I -6 (140-145)
F2R15 €200 (3%] (F(RTLA] (ZDHh]
2RE=FEET-2-3 9:30~10:10 |  10:10~11:00 11:00~11:40 11:40~12:40
(100%) =A_RlE 2 X& iE Eih fak FT&
(fE8rR) (GhiBIR) (f2RE2) (fERR)
oy B TREHRAER-3(146-151) | Z D1 (152-155)
%3215 [zott] (ZDth)
SEFAEE-2 11:00~12:00 12:00~12:40
(10042) B OaFs Wl B
(ERBR) (RH8)
RRA—=15 RRAA—ET RRI—HE
SMERIEE 9:30~12:00 12:00~13:00
T N R
HRIAT 9:00~13:00
e At MRI-5(160-163) | MRI-6(164-167)
F4AR5 (79 [ZDfth]
B EDE 11:30~12:10 | 12:10~12:50
(200%) W &£ | EE S
(RERE) (t&RE2) (EIER)
. s 1% [EF-4(168-173)
EE5R1S N " lzot)
ARAA EEE 11:50~12:50
(150%) : : HE BEA
GhiBIR)




